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(Write your Roll No. on the top immediately on receipt of this question paper. )

- Note : The maximum marks printed on the question
paper are applicable for the students of the
regular colleges (Cat. ‘A*). These marks will,
however, be scaled- up proporti'onately in
respect of the students of NCWEB at the time

of posting of awards for compilation of result.

Note : Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.,

Attempt all questions.
All questions carry equal marks.
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What are the objectives of Cost Accounting ? 4
The ABC Ltd. has undertaken the
construction of a bridge over the River
Yamuna for a Corporation. The value of the
contract is Rs. 15,00,000 subject to
retention of 20% until one year after
certified completion of the contract, and
final approval of the Corporation’s
Engineer. The following are the details as
shown in the books on 30™ June, 2006.
Labour on site  4,05,000 Materials on hand on
June 30%, 2009 6,300
4,20,000 Wages accrued on
June 30", 2009 7,800
semt 81,200 Direct expenses
accrued on June 30",
2009 1,600
12,100 Work not yet
certified at cost 16,500
Direct expenses 23,000 Amount certified by
the  Corporation’s .
Engineer 11,00,000
37,100 Cash received on
account 8,80,000
o the
Prepare :
(a) Contract Account
(b Contractee’s Account and
(c) Show how it would appear in the
Balance Sheet. 7
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(a)

(b)

(=)

Explain the difference between Fixed
Budget and Flexible Budget.

Varun Ltd. is running four buses between
Deihi and Alwar, covering a distance of

100 kms. The seating capacity of each bus

is 40 passengers. The following particulars

are obtained from its Books for the month
of Oct. 09 :

Rs.
Wages of drivers, conductors 9,600
Salaries of office staff 3,000
Honorarium of accountant 1,000
Diesel, oil etc. 16,000
Repairs and maintenance | 3,200
Road tax and insurance 6,400
Depreciation 10,400
Interest and other charges 8,000

Actual passengers carried were 75% of the
seatirng capacity. All the buses ran for
30 days. Each bus made one round trip per
day. Find out the fare the company” should
charge per passenger/km. if it wants a profit -
of 20% on the taking.
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Explain the term ‘Break Even Point’ and

give its uses,
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(b) From the following particulars of Ashok
Ltd. compute Machine Hour Rate.

Rs.
Cost of machine 1,14,800
Installation charges 5,400
Anticipated life of machine 10 years
Residual value at the end of 10 yrs 5,000
Rent and rates per annum 12,000

Insurance of the machine per annum 3,000
Repairs and maintenance per annum 3,640
Consumable stores per annum 1,200
Total production services per annum 1,080
Power cost is 5 units per working hour
@ 40 paise per unit

- Setting-up time (Non-productive)
400 hrs. per annum
There are 300 working days of eight hours

in a year. 7
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(a) What are the requirements of a system of

material control ?

{b) A product passes through two distinct

processes A and B and then to finished

stock. The output of A passes direct to B

and that of B passes to finished product.

From the following information you are

required to prepare Process Accounts.

Material consumed

Direct Labour
Manufacturing Expenses
Input in Process A (Units)
Input in Process A (Value)
Output (Units).

Normal wastage

( percentage of input)

Value of normal wastage
( per 100 units)

Process A
Rs.
12,000
14,000
4,000
10000 units
10,000
9400 units
5%

Process B
‘ Rs.
6,000
8,000
4,000

8300 units
10%

10

,NO opeming or closing stock is held ‘in

process.
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3. (a) Whatis meant by labour turnover ? Discuss
its causes. 4

(b) Define overhead. How are under and over
absorbed overheads treated in cost accounts ? 7
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(a) A company annuaily manufactures and sells
20,000 units of a product, the selling price
of which is Rs. 50 and profit earned is
Rs. 10 per unit.

The analysis of cost of 20,000 units is :

Rs.

- Material Cost 3,00,000
Labour Cost 1,00,000
Overheads 4,00,000

(50% variable)

You are required to compute :
(i) Break-even sales in units and in

rupees. . '
(i1)  Sales to earn a profit of Rs. 3,00,000.
(iit) Profit when 15,000 units are sold. 4

(b) Medical Aids Co. manufactures a special
product A. The following particulars were
collected for the year 2009 :

Cost of placing an order Rs. 100
Annual carrying cost perunit - Rs. 15
Normal usage - 50 units per week
Minimum usage 25 units per week
Maximum usage 75 units per week
Re-order-period 4 to 6 weeks
Compute from the above : (i) Re-order
Quantity ; (ii) Re-order Level ;

(iii) Minimum Level ; (iv) Maximum Level ;
(v) Average Stock Level. (Weeks in a
year 52) 7
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4. (a) Distinguish between Normal Loss and

Abnormal Loss.
(b) A manufacturing company disclosed a net
loss of Rs. 3,47,000 as per their cost
accounts for the year ended March 31,
2010. The financial accounts however
disclosed a net loss of Rs. 5,10,000 for the
same period. The following information
was revealed as a result of scrutiny of the
figures of both the sets of accounts :
Rs. Rs.
Factory overheads under-absorbed 40,000
Administration overheads over- 60,000
absorbed
Depreciation charged in financial 3,25,000
accounts :
Depreciation recovered in cost 2.,75,000
accounts
Interest on investments not 96,000
included in cost accounts
Income-tax provided 54,000
Interest on loan funds in financial 245,000 .
accounts
Transfer fee 24,000
(credit in financial books) ' _
Stores adjustment 14,000 -
(credit in financial books) o
Dividend received 32,000
' Prepare a statement showing reconciliation
between the figure of net loss as per cost
accounts and the figure of net loss shown in
the financial books.
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(a) What is a Cost Centre ? State briefly the
different types of Cost Centres. : 4
{b) With Foot Cold Limited manufactured and '
sold 1,000 refrigerators in the year ending
315t March, 2009. The summarized Trading,
Profit and Loss A/c is set out below :

Particulars Rs Particulars . Rs

To Costs of materials 80,000 | By sales 400,000
To Direct Wages 1,20,000
To Manufacturing 50,000
expenses
"To Gross Profit ¢/d 1,50,000 ¢ ‘
4,00,000 4,00,000
To Management  and 60,000 | By Gross profit | 1,50,000
Staff salaries b/d :
To Rent, Rates, 10,000
Insurance .
To Selling expenses 30,000
' To General expenses 20,000
To Net profit 30,000 |
1,50,000 1,50,000

For the year, ending 315 March, 2010 it is

estimated that :

(1) Output and sale will be 1,200
refrigerators. :

(2) Prices of raw materials will rise b
20% on the previous year’s level.

(3) Wages rates will rise by 5%.

(4) Manuofacturing cost will rise in
proportion to the combined cost of
materials and wages. ,

(5) Selling cost per unit will remain
unchanged.

(6) Other  expenses will remain
unaffected by the rise in output.

You are required to submit a statement for

the Board of Directors showing the price at

which the refrigerator should be marketed
$0 as to show a profit of 10% on selling _

price. 7
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A department of AXY company attains sales of
Rs. 6,00,000 at 80% of its normal capacity. Its
expenses are given below :

Rs.
Office salaries 50,000
General expenses 2% of sales
Depreciation 7,500
Rent and rates 8,750
Selling Costs : |
- Salaries : 8% of sales
Travelling expenses 2% of sales
Sales office 1% of sales
General expenses 1% of sales
Distribution Costs : '
Wages ' 15,000
Rent 1% of sales
Other expenses 4% of sales

Draw up Flexible Administration, Selling and
Distribution  Costs Budget, operating at 90
percent, 100 percent and 110 percent of normal
capacity. :
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(a) What are the assumptions on which
marginal costing technique is based ? 4

(b) D Ltd. introduced 5,000 units in a process
at a cost of Rs. 10,000. The wages and
overheads incurred are Rs. 10,000 and
Rs. 8,000 respectively. It is expected that
10% of the output is likely to bg defective.
Actual output of goods is 4,400 units.

The rectification of defective units costs
Rs. 4 per unit.

Calculate the cost per unit and show how
will you deal with the cost of rectification -
of abnormal defective units. 7
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